EARAROBEEIERT — 2 N— IBISH —F 2018518130 (+) 19@£E1H

m,fmﬁ%“ C1 ¥5%3mLt ‘ xz] 2 ‘ il — |4 (%) 14000 F&
[AE4£] 1% :230,000” ~ 2#%:53,000” ~ 3#%&:21,000 ™ . 43%&:12,000 M 53 :7,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R 4 4 & 1:31.8 3-3-3-1 | 40.1| — 3 476 | WUEZEAN (EH)
1811 Py o—i 56.0 = o | #
REATAT v — B—TYa— =¥ Tr—L
N DI :31. —5-4- . — HHEe (E8)
5 L7 T H 6 52 1(13/12)9 5-5-4-3 | 39.8 1 (4_635) e B
R:BALINT Ry TR B:E4XIILR—IL A =
o —P s [iim}2 : -4-5- - AR—X (E8)
3 TTh—NL TS i o6 i 1(.13/22.>o 4-4-5-4 | 39.9 5 ?(1); e A s
RG24 E—T BNy 18 JEBA
R [ mp>E] : -9-8- — =HEE (E8)
4 HyZAHL R — 4 5 G 1.(332).6 9-9-8-7 | 39.3 8 (4_169) EIEE—:/%
R:O-Y X124 B:F—-X3ITFv¥— NK EER
S _ s 5 | SHIEA 1:32.6 8-6-6-6 | 40.1| — 4 455 | HENE (1EH)
4 ho /<Yy 5.0 (F#%) (3) | 18AH
RNTZLwT T L BiIUSA—RY— i 2le )
o = o o il :32. -1-1- . — REE (88)
6 ho/ hZE87o4 i O 56.0 1(5/24)7 12410 2 (T‘:) HATE .
x4 xIEeLy v B:OXE2OY S HA —8l
— o5 | AMALZ 1:33.1 6-7-7-8 | 40.2| — 6 430 | REEBEA (1£%9)
7155 TUARTAZ 56.0 @ (+1) | RMBE—
R:Td—T4FAF—-XY%> B:Va/I2 V1l pccie ]
- = t> 5 | BMAEK 1:33.6 10-11-10-10{ 39.6 | — 10 | 488 |FEEHE (EH)
878 YrE=574 E=0= - 56.0 2 1/2) (-4) HHiE
R:wyUETyEk B:YvAIU-—T7 BEZX 2 Y K
S — # o7 | WTHE 1:33.7 11-10-9-9 | 40.1| — 9 448 | AIIEX (1EH)
9/8/10 bo2auT4 XY 56.0 b (1/2) 7 (F) J P N#HR
R:THINEry b BiYUMI RIS aY RS g vEERRRI FY Y a K
S SO e T 4 8 | AlRE 1:33.7 2-2-2-5 |42.0| — 7 473 | REFE (EH)
100f 9 | XA RFEYT 56.0 () vy |EBE
R:bh—t>4>Z2 B:TL¥vZ2RkAyT FEX %Y K
5 | HREA 1:37.3 7-8-11-11 [43.3| — 11 435 | MIHERZ (ER)
1111 | ZAAIN=Y 54.0 (5 44) (1) |EAERE
R:F25280 B:Ly KNF—FK FREFH
® I —F—@EBIERL
13=7r= 2,9,11,3,7,5,1,6,4,8,10
20—F— 2,9,11,3,7,6,5,1,4,10,8
Jol=5r= 2,9,11,7,3,6,5,4,10,8,1
43—F— 11,2,7,3,9,6,4,5,10,8,1
[ N3
BB 1 560M 714K 7-11 190H % E 6-8 320M 3EHE 3-7-11 810M
8 B 1 120 3-11 510M B & 7-11 390M K31 =18 3,760
7 1009 3-7 280M B H 11-7 880M
3 1804

ABICOVWTRDTEEERROODE. TR LIV,




